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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 7196 3.2 1.4 4 81.1 99.7

Question

100

Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Calc.late the least number of painkers nesdead
You must show all your working.
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Cavulae the laast sumber of penlers needed.
You mast show oll your workng, [4
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Calculate the: least number of painte's needec.
You must show all vour workieg,
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8(a)
N Time Time
n 8 80n OR n 60/n

Area N

600/80 OR 60/8

= 7-5 or equivalent
= 8 (painters)

Area
600

M1

M1

Al
Al

May be implied.
This M1 implies the previous M1

CAO. May not be seen.

FT provided at least M1 awarded and rounding
required

A correct answer of 8 (with no errors) from M1
awarded gains all 4 marks

Alternative methods:

M1 for n painters take 1 hour to paint 10n (m?)
M1 for 600/8

Al for 75 (m*/ hour)

Al for 8 (painters)

A correct answer of 8 (with no errors) from M1
awarded gains all 4 marks

OR

M2 for 5 x 10 x 600

8 500
This is for the correct use of the 5 with all 4
numbers, 10, 8, 600 and 500

M1 for correct use of the 5 with any 2 of
the numbers

A1 for 7-5 or equivalent. CAO. May not be seen
Al for 8 (painters)
FT provided at least M1 awarded and rounding
required
A correct answer of 8 (with no errors) from M1
awarded gains all 4 marks











Calc.late the least number of painkers nesdead
You must show all your working.
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This candidate has given a correct answer of 8. However, none of the lines of working are correct, so no marks.
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Cavulae the laast sumber of penlers needed.
You mast show oll your workng, [4
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M1 for 6 painter paint 600 m squared in 10 hours.
1 hour = 50 m squared is not a clear mistake, and can be for 5 painters.
This is an example of 8 coming from M1 with no clear errors, so full marks.










Calculate the: least number of painte's needec.
You must show all vour workieg,

N dtoke s \Oeos = \A0?
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M1 for 1 painter takes 1 hour to paint 10 m squared (RHS of MS).
The line 1 painter takes 8 hours to paint 80 m squared is also correct, but no further mark is awarded here.
600 / 80 then is awarded the second M1.
Their answer of 8.25 is incorrect so A0, but they have rounded up correctly, and we can therefore award the final A1.
So 3 marks.
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8.

On a new housing estate, teams of painters paint the walls and ceilings of houses once they are
built.

(a) lttakes ateam of 5 painters 10 hours to paint a house that has a total wall and ceiling area
of 500m2.

A new house on the estate has a total wall and ceiling area of 600 mZ2,
This house has to be painted in 8 hours.

Calculate the least number of painters needed.
You must show all your working. [4]

Examiner
only
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9(a)(i) 4x1 + 4x4 + 4x3 + 8x0-5 M1 | Allow M1 for any 3 correct products
=36 Al | CAO

9(a)(ii) FT for all marks from their answer to (a)(i)
provided their work in (a)(ii) is of equivalent
difficulty.
If FT results in the median being at one the
group boundaries, then award a possible S1
only if correctly found

Median is in the group 54 to 58 S1 | May be implied in their answer

4x = 14 OR 4x =2 M1 | OR %"4 OR 12_6"4
x = 3-5 or equivalent OR x =0-5or equivalent | Al
(Estimated median =) 57-5 (sec) or equivalent Al

Alternative method:

S1 for median group of 54 to 58

M1 for %5 x 4 OR % x 4 (finding the 18-5"
time)

A1 for 3-6(25) OR 0-3(75)

A1 for 57-6(25) (sec)
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We see here a correct answer to (i) for M1A1.
In (ii) we see a typical response, where the candidate does not know how to get an estimate of the median, but gives the median group correctly, which is awarded S1 only.
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This candidate gives a correct answer to (i) for M1A1.
In (ii), their answer of 56 can be awarded S1 only, as they show an understanding that the median is in the group 54 - 58 seconds.
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A correct answer is seen in (i) for M1A1.
In (ii), the candidate knows that the median is in the group 54 to 58 seconds, but does not show a correct method to arrive at the median, so S1M0A0A0.
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9. The time taken to run 400 m was recorded for each member of a running club.

(@) A histogram of the results for the members who are under 30 years of age is shown
below.

Frequency density

5

Time
> ds)
50 54 58 62 66 70 (secon

(i) Calculate how many members of the running club are under 30 years of age. [2]

(i) Calculate an estimate of the median time taken by the under-30s to run 400m. [4]
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willir

Sticky Note

Marked set by willir










11(a) Allow the use of numerical values of pi for the
B2 and M1 marks

Yixgx5°x12  and 7wx3°x4 B2

B1 for either of these expressions
(Vol remaining =) Vaxzx5°x12 — 7x3°x4 M1

FT use of Vaxzx10°x12

=100z - 367 (= 647w cm’) Al | Convincing. Must be in terms of .
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This candidate provides a fully correct answer to this question.
The volumes of the cylinder and cone are shown in stages, arriving at a correct answer for B2M1A1.










i3 Sazerthat he volume of wood thas omains i Sdxam?.

........ b 30z oh T om>

3




We see the formula for the volume of a cone here, but the substitution of values into this formula is incorrect.
There is no calculation of the volume of the hole either, so 0 marks.
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The candidate does not show a correct method to calculate the volume of wood remaining here.
But, there is enough evidence to give a B1 mark for the correct expression for the volume of the cone, so B1 only.
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11. The diagram below shows a wooden end-piece for a curtain pole.
Itis in the shape of a cone with measurements as shown in the diagram.

10

I_i

12cm

Diagram not drawn to scale

The curtain pole sits in a cylindrical hole that has been drilled into the end-piece.

The hole is of radius 3cm and depth 4cm.

(@) Show that the volume of wood that remains is 641 cm3.

cm
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